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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt

of this question paper.
2. Attempt any two parts from each question.

3. All questions are compulsory.

1. (i) Solve the differential equation

(2x cosy +3x%y) dx + (x* —x*siny —y) dy =0
(6)

(ii) Solve the differential equation

y2dx + (3xy — 1)dy = 0 (6)
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(@ Selve the following differential equation

pix (x-2) * p(2y-2xy—-x+2)+y2iy=
(6)

() Find the generzl solution of
}_- _ 6}.' = 25}' — 0 (Q

(i) Given that e~ ¢ and e™ are all solution of
v - 6yT = 5y + 12y = 0

Show that they are linearly independent on the

mnterval —o < x < . (6)

-

(1) Seolve the equation

5 —Ix—=12v=0 (6)

(1) Find the general solution of the given differennal

equauon using variation of parameter method.

”

V' Ty =tan X (6.3)
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() Wolve
Ny (4

A BEHmdnate the aebitenry fimeton Fand Torm the
PO

Mo aita thy I'( (% h.\’) (0)
GO Wind the general solutdon of the equation

2xpyg) =y o K ()

(D i the complete Tnfepral of

(0 gy = g (0)

8, () W the partnl diferenttal equation ol all
apheres ol rnding # having (theie centers o the

vy pline, (6:9)
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6. (i)

(ii)

(iii)

4
Find the general solution of the equation
(y-z)p + (z-X)q = X-y (6.5)

Find the complete integral of px + qy = pq.

(6.5)
Find the general solution of the equation
(y +zx)p - (x+yz)q = x* - y? (6.5)
Find a complete integral of
(p+q)(px+qy) =1 (6.5)
Classify the Partial Differential Equation :
xu , +tuu =0 (6.5)
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